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i : What do we learn from the conversation?

AKX FZA

4. What’s the probable relationship between the two speakers?

DN EAAEHR

41l . Where does the conversation most probably take place?

DEFHHEAR

& : When is the train leaving?

5)+#& &t M

&l : What are the speakers talking about?

M EEREM

i :How does the woman feel about driving to work?

DERERME

M :Why didn’t the man accept the job?

847 4 Fl 8 A&

i : What is the woman going to do?
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4 ; What does the man suggest the woman to do?

10) 3R 3 K4 &

4 . What probably is the man?
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6. R :“EXHERR"BL AFNREH ARG A H?
F:DLBXREA RFANEAPCRBRELEEM,
N . What’s the main idea of the conversation?
What are the speakers talking about?
AT A FIBT A R P E—F RRF B4,
4 : What is the man doing?
What are the speakers doing?
DEFEFEFE RAAETHEZ LT . EEHEREBAASLF.
U : Where can the man find the relevant articles?
According to the conversation, what can life in the country offer

us the city lacks?

DESRBBE RS FABXFRLAGERAN A ERF LN

SELPEREEL,

. What can you infer from the conversation?
What does the man imply?
OMEERM REMNEP—FHF—FRAEZFHEE RN F,
40 . What does the librarian think of the topic the man is working on?
What does the woman say about the equipment of their factory?
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441 - Why does the woman suggest advertising on TV?
Why has John not been promoted?
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What’s the topic of the passage?
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%0 : What is the special requirement for' passengers traveling to the
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What does the passage tell us about the colleges of Cambridge Univer-
sity?
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Section A

Directions: In this section, you will hear 8 short conversations and 2
long conversations. At the end of each conversation, one or more ques-
tions will be asked about what was said. Both the conversation and the
questions will be spoken only once. After each question there will be a
pause. During the pause, you must read the four choices marked A),
B), C) and D), and decide which is the best answer. Then mark the
corresponding letter on Answer Sheet with a single line through the

center.
Questions 1 to 8 are based on the conversations you have just heard,

1. A) He’s already finished the program.
B) He doesn’t know the nurse.
C) He doesn’t have to make the call.
D) He’d like to get additional information.
2. A) The barbecue has been changed to another day.
B) The weather will change dramatically.
C) The man will be late for the barbecue.
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D) Informal dress will be appropriate.

A) Her roommate has a lot of things to do.

B) Her roommate was not qualified to attend the meeting.
C) Her roommate is unreliable about delivering messages.
D) Her roommate is short of money,

A) He thinks that he is not in good health.

B) The students only do half the physical exercises.
C) The students aren’t in good physical condition.

D) He doesn’t believe in others’ words.

A) Steve has found a job as an actor.

B) Steve has been in his position for quite a long time.
C) Steve’s job as a manager is difficult.

D) Steve’s behavior may cause his loss of the job.

A) Keep on reading.

B) Meet friends at a bar.

C) Drink coffee and stop reading.

D) Start to read something about coffee-making.

A) The doctor is very much engaged.

B) She has chosen the correct doctor.

C) She probably can’t find him.

D) The doctor has given up his job,

A) She hasn’t gone hiking for three years.

B) She plans to visit her relatives.

C) Her sister’s children like to hike in the mountains.

D) She will help her sister move back to Colorado. .

Questions 9 to 12 are based on the conversations you have just heard.

9.

A) Know your spouse better.
B) Ways to better a marriage.
C) Emphasize on quality time.

« 2 .



10.

11.

12,

D) How to please your spouse.

A) Marriage needs to be improved.

B) People get caught up with their careers.
C) People like to raise kids.

D) One’s own goals in life are the most important.
A) Flatter our spouses in public.

B) Be loyal to our spouses.

C) Present words of prajse to our spouses.
D) Criticize our spouses in public.

A) Spend some time apart.

B) Care only about the feelings of one’s own.
C) Remember to please our spouses.

D) Show our admiration to our spouses.

Questions 13 to 15 are based on the conversations you have just heard.

13,

14,

13.

A) They are short of desks.

B) There is too much noise.

C) Office supplies are taking up too much space.
D) Some teaching assistants don’t have ¢lasses.
A) Give Jack a different office.

B) Complain to the dean of the department.

C) Move the cabinets to thé storage room.

D) Try to get a room to use for meetings.,

A) They have to ask for permission.

B) Jack doesn’t like the idea.

C) She thinks it might work,

D) The other assistants should be informed.

Section B

Directions: In this section,you will hear 3 short passages. At the end of

[} 3».
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each passage, you will hear some questions, Both the passage and the
questions will be spoken only once. A fter you hear a question, you must
choose the best answer from the four choices marked A),B) ,Cland D).
Then mark the corresponding letter on Answer Sheet with a single line

through the center.
Passage One

Questions 16 to 18 are based on the passage you have just heard.

16. A)Social position, power and wealth.
B)Social position,wealth and comfort,
C)Social position,ability and wealth,
D)Social position, power and comfort.
17. A)In 1970s. B)In 1940s,
C)After October 1973, © D) After November 1970.
18. A)Learning from the car makers in Japan and other countries.
B) Changing its production from time to time.
C)Reducing the production of big cars.
ID) Producing low-priced, high-quality cars.

Passage Two

Questions 19 to 21 are based on the passage you have just heard.

19. A)Economic growth,
B)Reducing unemployment.
C) Social security,
D)How to pay growing numbers of pensioners.
20. A) Aging populations will bankrupt government.
B) Aging populations will erode economic vitality.

C) Aging populations will harm geopolitical strength.



D) The truth is that such fears are widely exaggerated.
21. A)Political will. B) Demographics.
C)Social security. D)Medicare.

Passage Three

Questions 22 .to 25 are based on the passage you have just heard.

22. A)Because it cannot be noticed by human senses.
B)Because sometimes it can be detected by human sense.
C)Because it may be all around us.
D) Because it may be touched sometimes.
23. A)By killing all the cells.
B) By killing the vital organs,
C) By killing the vital cells.
D) By killing masses of cells in vital organs.
24. A) A few cells of an animal or human being are damaged by radiation.
B)A few cells of an animal or human being are damaged by radiation
and then reproduce themselves.
CO) A few cells of an animal or human being are killed by radiation.
D) A few cells of animal or human being are killed by radiation and
will never reproduce themselves.
25. A)He may feel fine.
B)He may die of cancer.
C)He may bring harm to his descendants.
D) All of the above.

Section C

Directions: In this section, you will hear a passage three times. When
the passage is read for the first time, you should listen carefully for
its general idea. When the passage is read for the second time, you are
required to fill in the blanks numbered from 26 to 33 with the exact
words you have just heard. For blanks numbered from 34 to 36 you are

required to fill in the missing information, For these blanks , you can ei-
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ther use the exact words you have just heard or write down the main

points in your own words. Finally, when the passage is read for the

third time,you should check what you have written.

Ever since Mathew Durnin saw his first giant panda in Washington
DC zoo at the age of fifteen, he felt led into the panda’s (26)
world by something he does not quite understand. “Maybe I just have a
strong feeling for (27) and wild animals, "he says.

For the past two years, Durnin and two Chinese (28) - from
the Wolong Nature Reserve in South-west China have been looking for
potential panda dens. In the reserve they see black bears ds well as giant
pandas.

The research is (29) to find out exactly what has taused the
decrease in the number of pandas. Approximately 1000 pandas still live
in the wild,and in (30) ,in the whole of China. Previous research
indicates that in the last two decades, the wild population of pandas has
decreased by more than fifty percent,

Various suggestions have been made for this decrease. Some
(3D point to the small number of wild animals that remain in the
Wfld;others suggest that as humans move into new areas, the pandas,
traditional movements and (32) grounds have been broken up. It
may be too that pandas are (33) on by wild dogs or other wild
animals,

In Wolong,each panda regards 4. 8 square kilometers as home. (34)

. But a survey

carried out at the end of the 1980s reported fewer than 100 pandas living
in the reserve despite the existence of sufficient bamboo, which pandas
eat, (35) ‘ .
Secondly, they want to find out if giant pandas compete with Asiatic
black bears. (36)

____»”says Durnin. If dens are not the: problem, they will then look at

the development of corridors for pandas to use to help them to move

from one area to another.



Section A

Directions: In this section, you will hear 8 short conversations and 2
long conversations. At the end of each conversation, one or more ques-
tions will be asked about what was said. Both the conversation and the
questions will be spoken only once. A fter each question there will be a
pause. During the pause, you must read the four choices marked A),
B), C) and D), and decide which is the best answer. Then mark the
corresponding letter on Answer Sheet with a single line through the cen-

ter.
Questions 1 to 8 are based on the conversations you have just heard.

1. A) Treat her in the cafeteria this evening.

B) Find out when the cafeteria opens.

C) Try to save his money.

D) Consult with the staff in the new cafeteria,
2. A) He has got the phone bill.

B) His calls weren’t included.

C) The woman doesn’t need to pay for it.

D) He has received a long-distance call.
3. A) Try to find a tape of famous lectures.

B) Listen to a tape of her presentation.
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C) Record practicing the presentation of himself,
D) Find a comfortable place to practice.
4. A) They were very disappointed.
B) They found it was a sad story.
C) They thought it was very funny.
D) They were outraged by the story.
5. A) He would have finished his job.
B) He wouldn’t be able to go on a vacation.
C) He didn’t like Mexico.
D) He wouldn’t like to take a break.
6. A) The modern art prints are worth the money.
B) He really appreciates the woman’s gift.
C) He hopes the woman will like the museum print.
D) People who enjoy modern art would like the prints.
7. A) She hadn’t begun to study biology.
B) She didn’t like the previous biology course.
C) She did very well in elementary biology.
D) She’d already taken all the biology courses.
8. A) At eleven o’clock.
B) At one o’clock,
C) At twelve o’ clock.
D) At two o’clock.

Questions 9 to 12 are based on the conversations you have just heard.

9. A) He has lost his office key.
B) He has taken the wrong exams.
C) He is unable to talk.
D) He doesn’t like his new class.
10. A) Check the latest homework assignment.

B) Put a notice of class change on the classroom door.
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